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R3

( R3
1
A=1,500
120000  66,000] 48600 5400
41 100m
R4
1 60000| 33000 24300 2700
B/C=8.53>1.00 55 45 00
A=5,600
L=20m
250,000 137,500| 101250| 11,250
61 600m
1
R7
A=1,120 50000 27500 20250 2250
B/C=6.15>1.00 55 45 00
A=3,000
100,000| 50,000 45000 5000 282
500m
R4
A=1500 50000 25000 22500 2500
B/C=431 1.00 50 50 00
2
A=1,300 150000 82500| 60,750| 6,750 2 8 31
8
R5
8
50000 27500 20250 2,250
B/C=160 1.00 55 45 00




R3
( R3
A=1,200 500
A=1,000 150,000 82,500/ 60,750 6,750 276 2.8 20
150m
R5
A=300
A=500 50,000 27,500| 20,250 2,250
B/C=2.22 1.00 55 45 00
770000 418500 316,350 35,150
260,000] 140500 107550 11,950
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R3
R3
10
L=20m,
L=24.5m,
A=3276m2, 700,000 350,000 315000/ 35000
A=9651m2
R7 58 500m
A=2435m2, 80000| 40000 36000] 4000
B/C=2.10>100 =50 50 0
1, =50
’ A=10ha 110000| 60500 44550 4950
25 300m  4ha
RS
1 50000 27500 20250 2,250
B/C=6.04>100 55 45 00
L=350
A=1200 90,000| 49500| 36450 4,050
19 200
R4
A=1,000 3 40000| 22000 16200 1,800
B/C=4.77>100 55 45 00
L=260
A=1300 80,000| 44000 32400 3600
17 300
R4
R3 A=500 3 30000 16500 12150 1,350
B/C=562>100 55 45 00




R3

( R3
, A=2ha
o %0 150m 52000 28600 21,060 2340
20ha
R4
30000 16500 12150 1,350
B/C=12.23>1.00 55 45 00
A=7,000 A=1,000
L=50.0m 350,000 192500 141750| 15750 10
350m
R7
A=500
AZ500 50000 27500 20250 2,250
B/C=131 100 55 45 00
1382000 725100] 591210| 65690
280,000 150,000 117,000 13,000




5415

(4)

oioivioinirinivik|d

50

50

[

55

45




R3

R3
A=2,000
A=500 50000 27500 20250 2,250
10
R4
A=100m2
2 coom2 25000 13750| 10120 1,130
B/C=4.97>1.00 =55 45 0
A=1,500
A=3,000
250,000 137,500| 101250| 11,250
24 500m
2ha
6
A=500 30000 16500 12150 1,350
B/C=457>1.00 =55 45 0
L=250
A=2,000
400 170000] 93500 68850 7,650
12 150
R5
L=250
e 60000 33000 24300 2700
B/C=2.34>1.00 =55 45 0
A=1,800m2
A=5400m2 350,000] 175,000 157,500 17,500 )
23 300m
R7
A=1250m2 70000] 35000 31500] 3500
B/C=1.65>1.00 =50 50 0
820,000 433,500 347,850 38,650
185,000 98,250 78,070 8,680
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R3
( R3
L=410m 3.6m( 3.0m 64,000 28,800 5,700 700 28,800
51ha
40ha 78%
R6
L= 410m 7,000 3,150 600 100 3,150
B/C=2.24>1.00 =45 10 45
64,000 28,800 5,700 700 28,800
7,000 3,150 600 100 3,150
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